=LPDB

*UXSD 5R]INEDG 37 32=5 :

7\J

7\J
= \EUDQH SUREIHP\ SHQUHQFIDU\VINNL Z

7\J
S$UHIHDSID Z  GU %RJIXV 6S\UD

7N
3RUDGQIFIZR Z\FKRZDZF]H L URG]LQQH

z GU=DICFND%HDID 3/ 32=5 = ODUJHQD 3/ 32=5 - Z GU&JHIZORQND 3/ 32=5
= =DICFLD Z IRUPIH JGDIQHI =DICFLD Z IRUPIH JGDIQHI T
= =DICFLD Z IRUPIH JGDIQHI
© 7N 7N
2 = \EUDQH SUREIHP\ v SUHIHIDSID GZ GU %RIXV 6S\UD ™
g SHQUHQFIDIAVAANL GZ  GU =DIGFND ODIJHQD 3/ 32=5& 3RUDGQIFIZR Z\FKRZDZF]H L IRG].QQH
n WHDD 3/ 32-5& ~DICFID Z IRUPIH JGDIQHI ;22_ SGljg‘ &JHIZ ORQND 3/
=DICFLD Z IRUPIH JGDIQHI =
=DICFLD Z IRUPIH JGDIQHI
=
n
7N 7N 7N
1RZDIRWNIH UR]Z.4]DQID Z RSIHFH L OHIRG\ND UHVRFIDILIDFLL Z GU &]HIZ 6HPLQDUXP G\SIRPRZH G %DQDVIDN
UHVRFIDL]DFL Z  GU &JHIZ ORQIND ORQND 3/ 32=5: $QD 3/ 32=5:
3/ 32%5: =DIGFLD Z IRUPLH JGDIQHI =DIGFLD Z IRUPLH JGDIQHI
=DICFLD Z IRUPIH JGDIQHI
7N 7N
3 ™ OHIRG\ND UHVRFIDILDFIL GZ Gl &HIZ 6HPLQDUXP G\SIRPRZH GU aXNDVIN
iz 1RZDIRWNIH UR]Z.4]DQID Z RSIHFH L ORQND 3/ 32=5& %HDID 3/ 32=5 -
I ‘?&RF"Dﬂggﬁ“g&Z‘ GU &JHIZ ORQIND ~ F1ZDUHN JDICFDIDN Z =DIGFLD Z IRUPLH JGDIQHI
= _ GIRGC =DIGFLD Z IRUPLH JGDIQHI
~ F]ZDUHN JDICFDIDN Z 7N
GURGC =DICFID Z IRUPLH JGDIQHI GHPLQDUXP G\SIRPRZH Gl ADSRI
OURViDZ 3/ 32=5 -
~ F]ZDUMHN JDICFIDIDN Z
GIRGC =DIGFLD Z IRUPLH JGDIQHI
—_
o3
=
M
@
©




